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Important Instructions : Question paper is divided in three Sections—(A), (B)
and (C).
(i) @IS (37) F wlt 71 T F e R
All questions of Section (A) are compulsory.
(iif) @Y () T (§) H A RN off T @S T4 FA L
Solve any one section from Sections (B) and (C).
(iv) ¥ @ F W T F W & & wn ) fag wm
aifgq |
Write all answers of each section in same place.
(v) sifuEan ee—diw &1 Seore fods Agifas g F fo §)

Maximum word-limit is only for the theoretical questions.
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WU A ) / Section-(A)
Arévardt il ar weafre % forg S
(Partnership Firms and Company Accounting)
: GUE-(3) & Wt w1 At wlenfelet & e sifem ¥y wuw 1 Q6

T AfeeTeEady v § 1 TEE W W 1 3w Tl #) vos v W Sw
19 41 7 5 A 2 | ad AT v oft §

Instruction : All questions of Section-(A) are compulsory for all students. Question

Nos. 1 to 6 are very short answer type questions carrying 1 mark each.
Answer these questions in / word or / sentence and also include objective
type questions.

TS 9

Objective type questions :

-1

WER! Here & A9E  wRRRl § a-gif o favsm e ¥ - (1]
(37 qoft srgam '

(F) < FUE H

() 99 JAq9R |

(%) 7 4 g e

In the absence of Partnership Deed, profit/loss is distributed among
partners :

(a) in capital ratio

(6) in sacrificing ratio

(c) inequal ratio

(d) None of these

FOA F @ ERE [1]
(37) Uy

(F) R

() Hurets

(?) T 4+ 71

Owners of a company are :

(a) Shareholders

() Debenture-holders

(c) Directors

(d) None of these
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Instruction

13}

el @ 9 oven o, anEdl & fre a | wise frmwar €2
(3 % @

(@) st @

(®) (i ar

(3 =

Realization profit is credited in partner’s which account?

(o) Bank A/c.

{b) Capital A/c.

(c) Revaluation A/c.

(d) LoanAlc,

Tt frg TR Y defa & 2

What type of asset is Goodwill?

oft vy faed A fopg oin <l s 12

In which side of balance sheet capital reserve is shown?

Ta% WG S 39 U H yior Y w7
To whom the due amount is paid in casc of death of a pantner?

(1

1]

1

1B

;W FAE 7 ¥ 10 T anIatd T F 1ol v R 3 J et #n-me

= fiwan w=-dm 50 = ¥

carries 3 marks. Maximum word-limit of answer is 50 wards.

T HY ¥ 20 F AN 25000 T 3iw Pl Reg s i ywge

: Question Nos. 7 to 10 are short answer type gucstions. Each question

W @ 77 1 e g § ol sl iaH4=3)

A company issued 25000 equity shares of Rs. 20 each. Al the
amounts have been received in lump-sum. Pass Journsl ‘Entries im
the books of the cbmpany.
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9 fafiree 1 100 & A 3 10% WfEw T Frifeg ey 9, e 5@
WhR Y1—20 &. 3G W, 30 %, 3T W (Nifas afed) 99120 € 999
i R | AT S 50 3T B WA , A A R YUH A=A e
&1 fordl | St Y 376 3w osd W Fa | SFoe Y qEes A SivETa Wy
ST et wfafeat sifea [3)

Jain Litd. issued equity shares of Rs. 100 each at 10% premium.
payable Rs. 20 on application, Rs. 30 on allotment (including
premium) and Rs. 20 on first call. Ashish, holder of 50 shares failed
to pay allotment and first call money. His shares were forfeited.

Pass Journal Entries related to forfeiture of shares in company’s book.

T4 WIERR H T A T IEvIHAr F @ wrew fefn | [1+1+1=3]

Write three reasons to give admission to a new partner.

Afem fafgee 3w s@F 1,90,000 & W @l %9 Wahe @&y

100 % =Tt 3W 5% =2 R Fifia fohe | ot =t Qearenl & srraregss Sia

wiafeal sifag | [1+2=3]
Ashish 1.td. bought a building for Rs. 1,90,000. As its payment it

issued equity shares of Rs. 100 fully paid at 5% discount.

Pass necessary entries in the journal of the company.

: W I 11 TE 12 HYS0Y 9 ¥ | TE® U W 4 of it €1 v
T W 3Aidfen faweg § | IW & atferra wss-dm 75 s

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

T-11

carries 4 marks and has internal choice. Maximum word-limit of answer

is 75 words.
T UM AR A-WIfa 3T ¥ ofR forfaw (i &m) | [1+1+1+1=4]
Differentiate between Sacrificing ratio and Gaining ratio (any four).
e
OR
et =t el = fediwanail =it wwmRw)

Explain any four characteristics of Partnership.
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4, B @ ¢ wder €131 wd, 2018 + I Faga F=fafaa o

fa ufyr waafvar e

(%.) (%.)
AR 3000 | wefR 1,200
‘{Gﬁ: FATER 400
A - 20007 Y 2,650
B - 1750% RN 3,780
C - 1,500% 5,250 | IS 220

8,250 8,250

1 31|, 2018 M ¥ D F AR I WA F 799 1 F fag 71 w6 W

TqEHd B §—

() & 1,500 %, A % ferg adm 1,800 . Y & forg i &
(if) TR0 wE AT e wE: 950 € 3R 380 %, 3ite T |

(iif) ERY T T 450 T. TG T |
TV-F1f TR a1 S9EY |

A, B and C are partners. Their Balance Sheet as on 31 March, 2018

was as under :

Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 3,000 | Machinery 1,200
Capitals : Furniture 400
A - Rs. 2,000 Stock 2,650
B-Rs. 1,750 Debtors 3,780
C - Rs. 1,500 5,250 [Cash 220
8,250 8,250

NM-43 A
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On 1st April, 2018, they admitted D for equal shares on the following

conditions—

(/) He will bring Rs. 1,500 for Goodwill and Rs. [,800 for Capital in cash.
(if) Machinery and Furniture were valued Rs. 950 and Rs. 380 respectively.
(iif) Value of stock be increased by Rs. 450.

Prepare Profit and Loss Adjustment Account.

arerar

OR

T SR W o W A TR § 11 SFad, 2018 B ST I A
25,000 . 3K 20,000 %, ot 1 3% ot W 8% wia ad ) X F =1 f
ST & A1 I IGO0 W 12% SA 1 SR 1 TH Y 1 AR, 2018
1 10,000 % FH H HWU F ¥ H fKui w™@m 5,000 7. afiE 7 #
HIYFHR ¢ 1 3T BTN W A HHL: 600 T. F 500 T, TR 74T | 31
fedar, 2018 1 TEQ o = A ST WRRISE F qd 25,000 %, o1 1Y
2018 =1 TY-TIfA & @ T RY )

Ram and Shyam are partners in a firm whose capitals on 1st January,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are allowed
interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as a loan on 1st July,
2018. Shyam is entitled to get an annual salary of Rs. 5,000. Interests
charged on their drawings were Rs. 600 and Rs. 500 respectively.
The profit for the year ended on 31st December, 2018 before
making above adjustments was Rs. 25,000. Prepare Profit and Loss

Appropriation Account for the year 2018.

NM-43 A
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. e WA 13 ¥ 15 7% AdIaty v ¥ | whw v W o iw fifa €
TF Ue g ofafia fawem ¥

Instruction : Question Nos. 13 to 15 are long answer type questions. Each question

We-13

carries 6 marks. Each question has an internal choice.

L, M 3R N Ter  wgen €131 fREeE, 2014 B M &
& ¢ 3q fafd 3T 3§ 20,000 T3 27 41 7¥ Fig fean v f% 9% o
5,000 T. W SIS gRT Wit @ A S AIER | He T 1 SEad,
2015 F fean o Ao wha o o pEA ot 1 S A R T M S
saufuwrd # 7 2 swad, 2017 B A ) vfa T aiffs IW W%
aiffer <0 | = F A ) W E | afie 39 9 TR [2+2+2=6]

L. M and N are equal partners in a firm. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20,000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. The first payment was made on Ist January, 2015
and other payments were also made on st January every year. On
2nd January, 2017 his legal representative died. Interest was allowed
@ 6% p.a. on balance amount. Prepare Annuity Suspense Account.

N

OR
X Y3l Z v o wder ¥, o am-wif e faed 3020 1 % 3ENE
¥ w ¥1 1 590, 2014 W X SEFW WO @ ¢ I8 fafy WS
20,000 & 37 4} | 7% frofg fermn w6 7% ufdn 3,000 T i S g
spTar # ST | Wem e 1 =l 2015 W fe e ufa ol 5
YA o 1 S B e T 2 SEEd, 2018 B XS T B SR T
wfa I i AT W 6% Al B Y =S F A0 A A
Fif#! 394 G IR | [1Y+1%+ 1Y+ 1:=6]
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X, Y and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.On Ist January, 2014, X retires from the firm. On this
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on st January, 2015 and other
payments were also made on 1st January every year. On 2nd January,
2018, X died. Interest was allowed (@ 6% p.a. on balance amount.

Prepare Annuity Suspense Account.

UTE-14 X 3R Y U wH & wigeR ¥ | e ¥ famen w frafafag el F fag
Teit yfafeal sifaw [1+1+1+14+141=6]

(i) U Tfafie weafa #t S Tl 8,000 T, |

(il) R T 3,000 €. K H Y |

(7if) whY TR aqelt @ § wumiaia fea s g #, 2,000 €. 8 &= m@n
(iv) TafEmi | 10,000 . ag gu |

(v) faeed =19 & 800 %. g M)

(vi) el @ F T 6,000 . X 3R VA 3 ¢ 1 faafa fw s €

X and Y are partners in a firm. Pass Journal Entries when the firm is

dissolved on the following conditions :

() Amount realized from an unrecorded asset Rs. 8,000.

(i) Rs. 3,000 were paid in cash to creditors.

(7ii) Stock transferred to Realization Account was sold for Rs. 2.000.
(/v) Rs. 10,000 were realized from investments.

(v) Dissolution expenses paid Rs. 800.

(vi) Profit on realization Rs. 6,000 is shared by X and Y in the ratio
of 3:1.

NM-43 A
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Jrerar
OR

% i % fauen ¥ Prafafad gamel ¥ ok wfafeat i

(i) U Afafea dufa | age g2 1,500 F. |

(ii) SgEN = % 1,000 T THCI

(i) SRR fo agelt @R § wEEfE e S g €, 9 48,000 T
aga fHa T

(iv) 7,100 %. 7eg w1 wiaan o ogeft @ wrmafta faan s g
%, ! TF WIERR B 7 5,000 . § A faan |

(v) SR frd Tl am A sl foan s e €, 1 30,000 F. TAH
ferdn

(vi) TGER @R T 12,000 €. B 3 D F 7 ¢ 5 % oW F e T
Pass Journal Entries on the dissolution of a firm from the given |
informations :

(i) Rs. 1,500 realized from an unrecorded assel.

(i) Paid dissolution expenses Rs. 1,000.

(7if) Debtors transferred to Realization Account realised Rs. 48,000.

(iv) Stock Rs. 7.100 transferred to Realization Account was taken

over by a partner B for Rs. 5,000.

(v) Creditors transferred to Realization Account paid off Rs. 30,000.

(vi) Realization profit Rs. 12,000 to be distributed among B and D
in the ratio of 7 : 3.

3 fafres Y 100 3. 918 4000, 5% AITH 10 & i HOIH WHIH T
e e Fffia fRRT— S8eA W 20 &, aTed W 50 5. (ifwas afed)
qo1 9 A=A 9w s % fe stdea e gu) wi afen agea

I B 7 | S oY Teaa! F v ettt ifs) [14+1+1+1+1+1=6]
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Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.
Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

Hgqar
OR

e fafiee 3 10 T 9 10000 T A, 2 T W oiw ifEE W
it frw i ufr Feet v 33 oft—amdies w3 %, Wi siw, iz w0 s
. (Wifrm afeaq) wfa siw aun 99 9m=m W o o g T @
T | S Y e ¥ v wffet SR

Goyal Ltd. issued 10000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. Amount payable—Rs. 3 per share on application,
Rs. 5 pershare on allotment (including premium) and balance on call.
All amount were duly received. Pass Journal Entries in the books of

the company.

e : W HEE 16 T 17 WEAHE T € | TS U W 8 aiw Fife € v
W W i fawey &4

Instruction Question Nos. 16 and 17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.

W-16 O fafiee St 3 10 ©. 9t 10000 319, 4 & Wi atw v © frife

e aft frt wepm il g

HEATT W 4 %, ufa sty (i 1 %)

& W 3 %. wfa siw (Hifaw 1 %)

I I W 4 % wfa 3w (WifEw 1 %)

sifem A= W3 % wfa siw (ffim 1 %)

Wil Rl T W WE € T S st gt ¥ oravass st whsfedd

Ffe) [ 1+ 1+1+1+1+1=8]
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A limited company issued 10000 shares of Rs. 10 each, payable at
premium of Rs. 4 per share. Amount payable as :
On Application Rs. 4 per share (including premium Re. 1)
On Allotment Rs. 3 per share (including premium Re. 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)

All amounts were duly received. Pass necessary Journal Entries in

the books of the company.
3verar

OR

T fefie 3 100 & 91t 10000, 8% ForH fifia fFw) stEes W
10 %, STEIZA W 20 E., WUH FTSAT W 40 F. T Sifed oA W 30 %, 9fd
oS &1 2T A Ui =R w1 i okl guee T 9T

Rt 3 qE A Tof wfafedt Fifww )

Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first
call and Rs. 30 per debenture on final call. All amounts were duly

received. Pass Journal Entries in the books of the company.

X 3iv y o o A g ¥ ol em-wif o faurer 3:1 % I Fd
#1380 31 fed@sy, 2017 W GREK FAIA F F e e 37w
faze frrgar i :

LG iy wafeat Tf¥
(%.) (¥.)
TR 2700 | d= # Aws 3,000
Mg §99 3,000 | ¥R 1,000
Y 0Em 3,000 | =R 19,700
ol : X 12,000 %. LEE| 9,000
Y 12,000%.| 24,000
32,700 32,700
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il |/ P et g
TR 900 &., TAUZ 18,000 T. T el 7,200 F. | SHER F Fel YA §
2,600 . fean 7, sgeft =74 500 € g

AYEil Wil T WIHERT 1 Y G 8 | [5+3 8]
X and Y are partners in a firm sharing profit and loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as tollows -
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 2,700 | Cash at Bank 3.000
General Reserve 3.000 [Debtors 1.000
Y's Loan 3,000 | Plant 19.700
Capital : X Rs. 12.000 Buildings 9.000
Y Rs. 12,000 24.000
32,700 32,700

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7.200, Creditors
were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs, 500.

Prepare Realization Account and Partner’s Capital Account.

3rerqr
OR

T, TEAY 3R 9E T HH B GReR ¥ S er-gi & R s, 1
3R 1/6F TR F Hd ¥ 3] fger, 2016 = 37! fagar FHETER o

T afr wqfwar i
(%.) (%.)
ATRR 8,000 | &g 15,600
T srfuferard 3,600 | fafqy ¥R 13,000
= 999 12,000 | Ty 17,000
eft 4 3,000
T - 20,000 & IR 3,500
TEHI - 10,000 &, CCE| 11,500
& - 10,000 . | 40,000
63,600 63,600

NM-43 A
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wd X 39 B sEsm TeW R au 3§ dew ¥ Frafafed wmEeE

faf=a ge :

(i) Y ged | 10% gfE A 9

(i) FEA W 5% v FufafEd wit =)

(iii) TR W 5% Taq T §9F T |

(iv) & = T e 12,000 5.

A9 31 fedar, 2016 FY Tieas @ Sl wEert % 4ot @ T

1§ [4+4=8]
Ram, Laxman and Bharat are partners in a firm sharing profit and
joss in the ratio of 1/2. /3 and Ve respectively. On 31 December, 2016
their balance sheet was as follows :
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 8,000 |Cash 15,600
Bank Overdraft 3,600 | Sundry Debtors 13,000
General Reserve 12,000 | Stock 17,000
Capital : Machinery 3,000
Ram - Rs.20,000 Furniture 3.500
[.axman - Rs. 10,000 Buildings 11,500
Bharat - Rs. 10,000 40,000
63,600 63,600
Bharat retired on that date and following adjustments were decided :
(/) Value of Stock was increased by 10%.
(ify Depreciate Machinery by 5%.
(iii) Create reserve for bad debt at 5% on debtors.
(iv) Value of Goodwill of the firm is Rs. 12,000.
Prepare Revaluation Account and Partner’s Capital Account for the
year ending 31 December, 2016.
NM-43 A P.T.O.
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WIS ¥) / Section-(B)
frdita faaoit =7 fageraor

(Analysis of Financial Statement)

Ecia ¢ W I 18 T 19 sifoergsadiy v €| woliw w9t 1 ofw Fift &

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries 1 mark.

UyT-18  [El foweq gfaw . [1]

Choose the correct option :

Wdﬁﬁz\am%
( 37) HufwEi =1 faato
(7) Jfas =1 faam
(g) fedfq faamm
() 3 faaro

Balance Sheet is called :

(a) Statement of assets
(b) Statement of liabilities
(c) Position statement

(d) Income statement

WeA-19 I 9 T &g gH fafaw | (1]
Write the formula to calculate current ratio.
Fror : W FEI 20 W 22 % @HSG09 WA § 1 Wl W W 4 3% Fifm ¥
TAF U R Hjale fawey &1

Instruction : Question Nos. 20 to 22 are short answer lype questions. Fach question
carries 4 marks. Each question has an internal choice.

WA-20 %S WaTE faew & ¢ 9w Iiva fafag [I+1+1+1=4]
Explain any four objectives of Cash Flow Statement.

erar
OR

mmﬁmmamaﬁﬂmﬁamﬁ'aimﬁaﬁm (FE a0
Differentiate between cash flow statement and Fund Flow Statement
(any four).

NM-43 A
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gv-21  Frfafea faarol @ e 3 W 39 3 T R [4]
g 2017 ad 2016
faaror
(%.) (%.)
THER 15,000 12,000
4 3,000 1,000
qagd =8 2,000 2,500
TTER 13,000 15,000
a4 2017 & S AW 3N 25,000 T. |
From the following information, calculate Cash Flow from operating
activities :
Year 2017 Year 2016
Particulars
‘ (Rs.) (Rs.)
Debtors 15,000 12.000
Qutstanding Expenses 3,000 1.000
Prepaid Expenses 2,000 2,500
Creditors 13,000 15.000
Profit during the year 2017 was Rs. 25,000.
3rerar
OR
for gETISH @ e fRaell & A58 T Y A HIfT ;
31-3-2017 | 31-3-2018
faaor
(%.) (%.)
AY-Bi @ 1,20,000 1,10,000
TAER 62,000 50,000
9 faan 42,000 24,000
e 4,000 8,000
AR 38,000 26,000
=t 76,000 80,000
NM-43 A P.T.O.
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Calculate Cash Flow Statement from the following information :

Particulars 31-3-2017 | 31-3-2018
(Rs.) (Rs.)
Profit and Loss A/c. 1,20.000 1.10.000
Debtors 62.000 50,000
Outstanding Rent 42.000 24,000
Prepaid Insurance 4.000 8.000
Creditors 38,000 26.000
Goodwill 76,000 80,000
Frafafaa gesil & =1 sum T@ wifag [4]

WY (W) 26,000 ¥, TAGR 20,000 %, WA fau7 6,000 %, sfim
TP 3,000 %, TEIA TS 20,000 ., TER 30,000 %., 27 Fyus
18,000 %, S arfufaed 2,000 .

From the given information, calculate Current Ratio -

Stock Rs. 26.000. Debtors Rs. 20,000, Bills Receivable Rs. 6,000,
Advance Tax paid Rs. 3.000. Cash in hand Rs. 20,000, Creditors
Rs. 30,000, Bills Payable Rs. 18.000. Bank Overdraft Rs. 2.000.

31T
OR
7= gomisli § T orure #1 orn ferg -
=1 SFAY 1,40,000 %, Rt Toft 1,80,000 %,
TSR 3,000 %, WIF 1,10,000 &,
Calculate Quick Ratio from the following details

Current liabilities Rs. 1.40,000. Working capital Rs.|,80.000,
Creditors Rs. 3,000, Stock Rs. 1.10.000.

NM-43 A
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Instruction

91-23

ferefor

1171

: mmzsﬁmmtuwmmemﬁwﬁa%amm

fasrey 9o ¥

: Question No. 23 is long answer type question. This question carries

6 marks and it has an internal choice.

it Faot % faverm =t Wt gugmse (38 89) | [1+1+1+1+1+1=6)

Explain the limitations of analysis of financial statements (any six).

3rear
OR

fersirg Fraol} & FaTeIToT =t TE THFEY (B 87) |

Explain the importance of analysis of financial statement (any six).

Instruction

y1-18

wug-( 1) / Section-(C)
T WEHT

(Computer Accounting)

. WYd FEE 18 G 19 AfTeESag 7 € | T&E T W1 st fauifa ®1

Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.

et fased 9fg L1}
Choose the correct option :

DBA F5& € :

(37) BRI 1 MR

(7) s fershed

(%) eeeY gEifeeE

(7) erREY s

DBA is called :

(a)
(6)
(c)
(d)

Base of Database
Database Application
Database Administration

Database Admin

NM-43 A
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W-19  FR § EEam F B 9 3¢ fafay [Vat¥a=1]

Write any two examples of hardware of computer.

ﬁé’.;»'r ;WY HHIH 20 ¥ 22 % AYSO0T T ¥ | W&F W W 4 3% Fuife E
TlF I W AR famed § ol 3w # sifuman wee-dimn 75w 2

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Fach question has an internal choice. Maximum word-

limit of each answer is 75 words.

WA-20  SRMH ey yonelt & Rl syt @ aweme (92 9 ) [1+1+1+1=4]

Explain various applications of Database Management System (any four).

3erT/ OR

Y Yoy WU % HIg TR T TR

Explain any four advantages of Database Management System.

WA-21  gEg e faam-ud it i 9 fadand fafa ) [1+1+1+1=4]

Write any four characteristics of Electronic Spreadsheet,

AT/ OR

FARIT feaR- T #1 R =R Svafirard fafea

Write any four utilities of Electronic Spreadsheet.
W-22 IR HI TR 9R ygw fadwarsd 1 wweme) [1+1+1+1=4]
Explain any four main characteristics of computer.
Ngar/ OR

FR HI HHGT & STIER T F9IEY

Explain types of computer on the basis of functional ity.

NM-43 A
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. Wy T 23 DI we ¥ | 78 T W 6 i Fruifa ) 9w W A
e & | T H sifuman wee-dim 725 I ¥

Instruction : Question No. 23 is long answer type question. It has been allotted

U9-23

6 marks. It has an internal choice. Maximum word-limit of answer is
125 words.

fre oft W ¥ e S wiwdat o § qd wm § @A 9 T
fafeu (1 :) 1 [1+1+1+1+1+1=6]

Write the points which should be kept in mind before taking any kind

of accounting package software (any six).
37T/ OR
Y-t ¥ el B HTEY (FE ) |

Explain the factors of Pay-roll (any six).

----------
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